Purchasing Division

75 Langley Drive • Lawrenceville, GA 30046-6935 (tel) 770.822.8720 • (fax) 770.822.8735



March 22, 2018

gwinnettcounty

ADDENDUM #1

BL024-18, Purchase of Public Safety Uniforms on an Annual Contract

The Bid Tabulation for the current contract, BL020-13, is attached.

This addendum should be signed in the space provided below and returned with your bid. Failure to do so may result in your bid being deemed non-responsive.

Company Name______

Authorized Representative______

Thank you.



BL020-13 (2017 Pricing)

				dvertising OS)		ECO L)		niform Tailor, Inc. OC)	Uniform Americ	ea, Inc.
ITEM #	DESCRIPTION	APPROX. QTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
	SECTION A - POLICE	,								
1	Olympic #CMP126 Coolmax® short sleeve polo shirt with pocket and microphone tab on shoulder or equivalent, LA Blue or Black, POLICE 4" letters silkscreened on back, one patch sewn on each sleeve and one badge patch sewn on left chest, name tag on right chest in gold, embroidered/sewn on. Small - XL	110 EA					\$78.66) \$8,652.60		
	2XL 3XL 4XL 5XL 6XL						\$78.66 \$78.66 \$85.45 \$85.45 \$87.63			
2	Olympic #CMP155 Coolmax® long sleeve polo shirt with pocket and microphone tab on shoulder or equivalent, LA Blue or Black, one patch sewn on each sleeve and one badge patch sewn on left chest, name tag on right chest in gold, Velcro name tag. Small - XL	40 EA					\$82.24	\$3,289.41		
	2XL 3XL 4XL 5XL 6XL						\$82.24 \$82.24 \$88.79 \$88.79 \$92.06			
	Hollywood Shorts with chamois, LA Blue, Olympic #OHS147 or equivalent. Small - XL	35 EA								
3	2XL 3XL 4XL 5XL 6XL									
	Perfect Storm Duty Jacket, Style F1006 or equivalent, navy, to include hi-visibility, reflective panels with POLICE printed in reflective letters	50 EA					\$142.33	\$7,116.27		
4	2XL 3XL 4XL 5XL 6XL						\$142.33 \$153.25 \$158.72 \$164.18 \$164.18			
5	Straw hat, campaign style (summer), navy, triple brim available with or without badge eyelet, Alboum or equivalent, hat to include black hat straps, clear reain cover, and gold and silver acorns.	70 EA	N/B	\$0.00						

BL020-13 (2017 Pricing)

	, , , , , , , , , , , , , , , , , , ,			dvertising S)		ECO L)		niform Tailor, Inc. (OC)	Ameri	Sales of ca, Inc.
ITEM #	DESCRIPTION	APPROX. QTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
6	Gym shorts, Augusta Sportswear longer length jersey short, style 915 or equivalent, navy, label showing manufacturer, size and care instructions should be affixed to the interior. S-XL	120 EA	\$8.50	\$1,020.00						
	2XL 3XL 4XL		\$10.00 \$11.20 N/B							
7	Male LS Elbeco Tex-Trop with zipper or equivalent, French blue, Police Dept. patch sewn 1" from top of each shoulder and may require Cpl. or Sgt. Chevrons to be sewn 1" below the shoulder patches on each sleeve and service stipes on left sleeve, sewn 1" from cuff.	600							\$28.56	\$17,136.00
	State Oversizes Oversize Prices								18-22 \$36.23	
8	Male SS Elbeco Tex-Trop with zipper or equivalent, French blue, Police Dept. patch sewn 1" from top of each shoulder and may require Cpl. or Sgt. Chevrons to be sewn 1" below the shoulder patches on each sleeve.	1060							\$25.41	\$26,934.60
	State Oversizes Oversize Prices								18-22 \$31.45	
9	Male Elbeco Tex-Trop Trouser style E314 or equivalent, navy with 1" French blue stripe.	815							\$29.82	\$24,303.30
	State Oversizes Oversize Prices								\$37.28	
10	Female LS Elbeco Tex-Trop with zipper or equivalent, French blue, Police Dept. patch sewn 1" from top of each shoulder and may require Cpl. or Sgt. Chevrons to be sewn 1" below the shoulder patches on each sleeve and service stipes on left sleeve, sewn 1" from cuff.	55 EA							\$28.56	\$1,570.80
	State Oversizes Oversize Prices								48-50 \$36.23	
11	Female SS Elbeco Tex-Trop with zipper or equivalent, French blue, Police Dept. patch sewn 1" from top of each shoulder and may require Cpl. or Sgt. Chevrons to be sewn 1" below the shoulder patches on each sleeve.	55 EA							\$25.41	\$1,397.55
	State Oversizes								48-50	
	Oversize Prices Female Elbeco Tex-Trop Trouser style E9314LC or	90 EA							\$31.45 \$29.82	\$2,683.80
12	equivalent, navy with 1" French blue stripe. State Oversizes	90 EA							20-30	φ2,083.80
	Oversize Prices								\$37.28	
13	Turtleneck Shirt, Long sleeve, navy blue, Elbeco #7700/7702 or equivalent, Gold embroidery required on turtleneck 3/4" G.C.P.D. State oversizes	150 EA								
	State charge for oversizes									
14	Cargo Trousers, 65% polyester/35% combed cotton, Southeastern 3021 or equivalent, dark navy blue.	210 EA		(\$44.71	\$9,389.10				
1-	State oversizes State charge for oversizes				44-60 \$55.90					

BL020-13 (2017 Pricing)

				dvertising (S)		ECO L)		niform Tailor, Inc. OC)	Uniform Americ (O	ea, Inc.
ITEM #	DESCRIPTION	APPROX. QTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
	Water Resistant Supplex Cycling Pants, LA Blue, NY blue, Olympic #OCP588 or equivalent. Small - XL	20 EA								
15	2XL 3XL 4XL 5XL 6XL									

BL020-13 (2017 Pricing)

				Koppel A			ECO L)		niform Tailor, Inc. OC)	Uniform Americ	ea, Inc.
ITEM #	DESCRIPTION	APPF QT		UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
16	Zip sleeve jacket, Olympic New York #ONY673 or equivalent, Royal over LA Blue, Police patch sewn 1" from top of each shoulder & Police Badge sewn on left chest, Velcro name tag sewn on right chest in white, "POLICE" silkscreened in 4" white letters on back. Small - XL NOT RENEWED 2XL 3XL 4XL 5XL	40	EA	TRICE	TMCL	TRICE	TRICE	TRICE	TRICE	TRICE	TMCL
	GXL Windbreaker, flannel lined nylon, navy or black, Hartwell HW301A or equivalent, various logos or department patches may be required by department and will be specified upon order. State Oversizes	25	EA							\$19.69 2XL-6XL	\$492.25
17	Oversize Prices									2XL \$21.79 3XL \$23.89 4XL \$25.99 5XL \$30.19 6XL \$30.19	
18	Men's/women's clip on ties, navy blue, black, regular and X-long, Broom #900 or equivalent.	100	EA								
19	Golf shirt, short sleeve, Tiger Hill HPQ or equivalent, 100% cotton pique knit, assorted colors, two color various logos embroidered or attach department patch on left chest, and/or writing embroidered on right chest or left chest. Small - XL	200	EA (\$13.25	\$2,650.00						
	2XL 3XL 4XL			\$14.50 \$15.50 \$16.50							
20	Golf shirt, long sleeve, Tiger Hill HPQLS or equivalent, 100% cotton pique knit, assorted colors, 2 color various logos embroidered or department patch on left chest and/or writing embroidered on right chest. Small - XL	65	EA	\$15.40	\$1,001.00						
	2XL 3XL 4XL			\$16.65 \$17.65 \$18.65							

BL020-13 (2017 Pricing)

				dvertising OS)		ECO L)		niform Tailor, Inc. OC)	Uniform Americ	ea, Inc.
ITEM		APPROX.	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
#	DESCRIPTION TO THE PROPERTY OF	QTY.	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE
21	T-Shirt, Russell Athletic #67014 or equivalent, 100% cotton, no pocket, navy, ash/gray, dark green, label showing manufacturer, size and care instructions shall be affixed to the interior. T-shirts must be factory or factory authorized silk-screened. Insignia shall be white and applied over left chest, per attached specifications. Small - XL 2XL	60 EA							\$5.67	\$340.20
	3XL			4					\$8.19	
22	4XL Sweatshirts, Russell Athletic #698HBM1 or equivalent, 50% poly/50% cotton, navy, label showing manufacturer, size and care instructions shall be affixed to the interior. Sweatshirts must be factory or factory authorized silk- screened. Insignia shall be white on navy shirts, per attached specifications. Small - XL	100 EA							\$8.30 \$11.50	\$1,150.00
	2XL								\$12.97	
	3XL 4XL								\$13.86 \$13.97	
23	Sweatpants, Russell Athletic #029HBM0 or equivalent, 50% poly/50% cotton, navy, gray, label showing manufacturer, size and care instructions shall be affixed to the interior. Small - XL	100 EA							\$13.60	\$1,360.00
	2XL								\$16.12	
	3XL								N/B	
24	4XL Long sleeve, brushed poplin shirt, unisex, navy blue, black, hunter green, maroon/burgundy, sleeve length 31-37, emblem over left pocket. Small - XL	40 EA							N/B \$16.75	\$670.00
24	2XL 3XL 4XL 5XL								\$18.27 \$21.26 \$22.84 \$25.99	
	6XL			1					\$23.99	
	Short sleeve, brushed poplin shirt, unisex, navy blue, black, hunter green, maroon/burgundy, emblem over left pocket. Small - XL	40 EA							\$16.75	\$670.00
25	2XL 3XL 4XL 5XL 6XL								\$18.27 \$21.26 \$22.84 \$25.99 \$28.09	

BL020-13 (2017 Pricing)

	uons, Department of Fire and Emergency Services			dvertising S)	-,	ECO L)		niform Tailor, Inc. OC)	Uniform Americ	,
ITEM #	DESCRIPTION	APPROX. OTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
26	Men's rip-stop BDU Trousers, Tru-Spec 1582 or equivalent, navy, black, khaki, green. Small - XL Not Renewed	265 EA	TRICE	TRICE	TRICE	TRICE	TRICE	TRICE	TRICE	TRICE
	3XL									
	Se	ction A Total	\$4,6	71.00		\$9,389.10		\$19,058.28	\$78,7	08.50
	SECTION B - SHERIFF									
	Waterproof breathable jacket, Tact Squad Gen Jacket #F1003 or equivalent, navy, to include Dept. patch sewn 1" from top of each shoulder & badge patch sewn on front left chest. S-XL.	50 EA					\$64.75	\$3,237.50		
1	2XL 3XL						\$64.75 \$69.66			
	4XL 5XL 6XL						\$71.03 \$71.03 \$75.40			
2	Male LS Elbeco Tex-Trop with zipper or equivalent, Khaki, Sheriff's Dept. patch sewn 1" from top of each shoulder and may require Cpl. or Sgt. Chevrons to be sewn 1" below the shoulder patches on each sleeve and service stripes on left sleeve, sewn 1" from cuff.	200 EA					\$75.40		\$28.56	\$5,712.00
	State oversizes State charge for oversizes								18-22 \$36.23	
3	Male SS Elbeco Tex-Trop with zipper or equivalent, Khaki, Sheriff's Dept. patch sewn 1" from top of each shoulder and may require Cpl. or Sgt. Chevrons to be sewn 1" below the shoulder patches on each sleeve.	300 EA							\$25.41	\$7,623.00
	State oversizes State charge for oversizes								18-22 \$31.45	
4	Male Elbeco Tex-Trop Trouser style E314 or equivalent, midnight blue with a midnight blue stripe piggybacked on a wider khaki stripe.	200 EA							\$33.08	\$6,616.00
	State Oversizes Oversize Prices								44-64 \$41.95	

BL020-13 (2017 Pricing)

				dvertising OS)		TECO L)		niform Tailor, Inc. OC)		Sales of ca, Inc.
ITEM #	DESCRIPTION	APPROX. QTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
	Female LS Elbeco Tex-Trop with zipper or equivalent, Khaki, Sheriff's Dept. patch sewn 1" from top of each shoulder and may require Cpl. or Sgt. Chevrons to be sewn 1" below the shoulder patches on each sleeve and service stripes on left sleeve, sewn 1" from cuffs. State oversizes	50 EA							\$28.56	\$1,428.00
6	State charge for oversizes Female SS Elbeco Tex-Trop with zipper or equivalent, Khaki, Sheriff's Dept. patch sewn 1" from top of each shoulder and may require Cpl. or Sgt. Chevrons to be sewn 1" below the shoulder patches on each sleeve.	50 EA							\$36.23 \$25.41	\$1,270.50
7	State oversizes State charge for oversizes Female Elbeco Tex-Trop Trouser style E9314LC or equivalent, midnight blue with a midnight blue stripe piggybacked on a wider khaki stripe.	50 EA							48-50 \$31.45 \$33.08	\$1,654.00
	State Oversizes Oversize Prices								22-30 \$41.95	
	Olympic #CMP126 Coolmax® short sleeve polo shirt with pocket and microphone tab on shoulder or equivalent, LA Blue or Black, SHERIFF 4" letters silkscreened on back, one patch sewn on each sleeve and one badge patch sewn on left chest, name tag on right chest in gold, embroidered/sewn on. Small - XL	20 EA					\$80.86	\$1,617.10		
	2XL 3XL 4XL 5XL 6XL						\$80.86 \$80.86 \$87.41 \$87.41 \$89.59			
	United Uniform Manufacturers 541 Coolmax® short sleeve bike shirt with pocket or equivalent, Navy Blue/Plain, SHERIFF patch sewn on back, one patch sewn on each shoulder and star badge sewn on left chest. Small - XL	200 EA					\$39.28	\$7,856.00		
9	2XL 3XL 4XL 5XL 6XL						\$42.33 \$42.33 \$42.33 \$42.33 \$42.33			

BL020-13 (2017 Pricing)

				Koppel A			ECO L)		niform Tailor, Inc. OC)	Uniform Americ	· /
ITEM #	DESCRIPTION	APPRO OTY.		UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
10	Windbreaker, flannel lined nylon, navy or black, Hartwell HW301A or equivalent, "SHERIFF" patch on back, Sheriff star badge patch on left chest, one Sheriff's Office badge on each shoulder. NOT RENEWED State Oversizes Oversize Prices	,	EA			-					
11	Baseball cap, mesh, Otto Caps #19-366 or equivalent, 3 color star badge embroidered.	50 I	EΑ	\$7.45	\$372.50						
12	Knit beanie cap, blue, Otto Cap 82-404 or equivalent, 3 color star badge embroidered.	50 I	EA	\$6.50	\$325.00						
13	Men's/women's clip on ties, navy blue, black, regular and X-long, Broom #900 or equivalent.	25 I	EA								
14	Golf shirt, short sleeve, Tiger Hill HPQ or equivalent, 100% cotton pique knit, assorted colors, to include a 3 color embroidered star badge and "Gwinnett County Sheriff's Department" embroidered on left chest in navy, gold, and white. Small - XL	500 I	EA	\$14.25	\$7,125.00						
	2XL 3XL 4XL			\$15.50 \$16.50 \$17.50							
15	Golf shirt, long sleeve, Tiger Hill HPQLS or equivalent, 100 % cotton pique knit, assorted colors, to include a 3 color star embroidered badge and "Gwinnett County Sheriff's Department" on left chest in navy, gold, and white. Small - XL	100 I	EA ·	\$15.40	\$1,540.00						
	2XL 3XL 4XL			\$16.65 \$17.65 \$18.65							
16	Men's t-shirt, Hanes or equivalent, 50% cotton, 50% polyester, navy blue, gold. Silkscreen "SHERIFF" in 2 ½" block letters on the back and a silkscreen star badge and department name on left chest. Silkscreen color will vary depending on shirt color. Small - XL	500 I	EA ¹	\$3.58	\$1,790.00						
	2XL 3XL 4XL			\$5.58 \$5.58 \$5.58							

BL020-13 (2017 Pricing)

				dvertising OS)		ECO L)		niform Tailor, Inc. OC)	Uniform Americ	ea, Inc.
ITEM #	DESCRIPTION	APPROX. QTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
	Men's BDU pants, Tru-Spec 1758 or equivalent, 60% cotton, 40% polyester, navy blue. Small - XL 2XL 3XL	500 EA								
17	4XL Men's BDU long sleeve tactical shirt, Tru-Spec 1423 or equivalent, 60% cotton, 40% polyester, navy blue, regular and long lengths. Sheriff's Department shoulder patch sewn 1" from top of sleeve on each shoulder and star badge sewn on left chest with "SHERIFF" patch sewn on back between shoulder blades. Small - XL	200 EA								
	2XL 3XL 4XL									
19	Uniform shirt, Tru-Spec Tactical Response Uniforms Shirts or equivalent, navy blue (item #1282), OD green (item #1284). Star badge patch sewn on left chest of shirts. Gold star badge patch for navy blue shirts, subdued star badge patch for OD green shirts. Small - XL	50 EA								
	2XL 3XL 4XL 5XL									
20	Combat shirt, Tru-Spec Tactical Response Uniform Combat Shirt or equivalent, 65% polyester, 35% cotton, ripstop, navy blue (item #2555), OD green (item #2553). Small - XL	10 EA					\$41.47	\$414.68		
	2XL 3XL						\$44.75 \$45.85			
21	Uniform trousers, Tru-Spec Tactical Response Uniform Trousers or equivalent, 65% polyester, 35% cotton, ripstop, OD green (item #1285). Small - XL	50 EA								
21	2XL 3XL 4XL 5XL									

\$36.23

BL020-13 (2017 Pricing)

State charge for oversizes

Purchase of Public Safety Uniforms on an Annual Contract Department of Police Services, Sheriff's Department, Department of

Corrections, Department of Fire and Emergency Services Red the Uniform Tailor, Uniform Sales of Koppel Advertising NAFECO Inc. America, Inc. (OS) (L) (OC) (OC) TOTAL ITEM APPROX. UNIT TOTAL UNIT TOTAL UNIT TOTAL UNIT DESCRIPTION QTY. PRICE PRICE PRICE PRICE PRICE PRICE PRICE PRICE Men's pants, Tru-Spec 24/7 Series or equivalent, 65% polyester, 35% cotton, ripstop, dark navy (item #1061), 200 EA khaki (item #1060), OD green (item #1064), black (item #1062). State Oversizes Oversize Prices Ladies pants, Tru-Spec 24/7 Series or equivalent, 65% polyester, 35% cotton, ripstop, khaki (item #1095), black 10 EA (item #1096), navy (item #1097). State Oversizes Oversize Prices Men's rip-stop BDU Trousers, Tru-Spec or equivalent, 300 EA \$20.60 \$6,180.00 navy, black, khaki, green. Small - XL 2XL \$21.80 Section B Total \$11,152.50 \$0.00 \$19,305.28 \$24,303.50 SECTION C - CORRECTIONS Waterproof breathable jacket, black, Perfect Storm Duty jacket, Style F1006 or equivalent, to include Dept. patch sewn 1" from top of each shoulder & badge patch sewn 15 EA on front left chest. Small - XL 2XL 3XL 4XL 5XL 6XL Male LS Elbeco Tex-Trop with zipper or equivalent, Gray, Dept. of Corrections patch sewn 1" from top of each shoulder 20 EA \$28.56 and may require Cpl. or Sgt. Chevrons to be sewn 1" below \$571.20 the shoulder patches on each sleeve and service stripes on left sleeve, sewn 1" from cuff. State oversizes 18-22

BL020-13 (2017 Pricing)

					dvertising (S)		ECO L)		niform Tailor, Inc. OC)	Uniform Americ	ea, Inc.
ITEM #	DESCRIPTION	APPF QT		UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
3	Male SS Elbeco Tex-Trop with zipper or equivalent, Gray, Dept. of Corrections patch sewn 1" from top of each shoulder and may require Cpl. or Sgt. Chevrons to be sewn 1" below the shoulder patches on each sleeve.	45	EA							\$25.41	\$1,143.45
	State oversizes State charge for oversizes									18-22 \$31.45	
4	Male Elbeco Tex-Trop Trouser style E314 or equivalent, black with gray stripe.	45	EA							\$29.82	\$1,341.90
	State Oversizes Oversize Prices									44-64 \$37.28	
5	Female LS Elbeco Tex-Trop with zipper or equivalent, Gray, Dept. of Corrections patch sewn 1" from top of each shoulder and may require Cpl. or Sgt. Chevrons to be sewn 1" below the shoulder patches on each sleeve and service stripes on left sleeve, sewn 1" from cuff.	10	EA							\$28.56	\$285.60
	State oversizes State charge for oversizes									48-50 \$36.23	
6	Female SS Elbeco Tex-Trop with zipper or equivalent, Gray, Dept. of Corrections patch sewn 1" from top of each shoulder and may require Cpl. or Sgt. Chevrons to be sewn 1" below the shoulder patches on each sleeve.	15	EA							\$25.41	\$381.15
	State oversizes State charge for oversizes									48-50 \$31.45	
7	Female Elbeco Tex-Trop Trouser style E9314 or equivalent, black with gray stripe.	10	EA							\$29.82	\$298.20
	State Oversizes Oversize Prices									20-28 \$37.28	

BL020-13 (2017 Pricing)

				Koppel Ac			ECO L)		niform Tailor, Inc. OC)	Uniform Americ	a, Inc.
ITEM #	DESCRIPTION	APPRO		UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
8	United Uniform Manufacturers 540CW Coolmax® short sleeve bike shirt with pocket and microphone tab on shoulder or equivalent, Black, CORRECTIONS patch sewn on back, one emblem patch sewn on each shoulder, badge patch on left chest, and name embroidered on right chest. Small - XL 2XL	60 E	EA					\$39.28 \$42.34	\$2,357.05		
	3XL 4XL 5XL 6XL		-					\$42.34 \$42.34 \$42.34 \$42.34			
	Windbreaker, flannel lined nylon, black, navy, Hartwell HW201A or equivalent, to have silver or gold (as requested) Corrections badge silkscreened on left chest and 6 ¼"H x 2"W "G.C.D.C." silkscreened on back.	10 E	EΑ							\$19.69	\$196.90
9	State Oversizes Oversize Prices									2XL-6XL 2XL \$21.78 3XL \$23.89 4XL \$25.99 5XL \$30.19 6XL \$30.19	
10	Waterproof breathable jacket, navy, black, Tact Squad #F1013 or equivalent, to include Dept. patch sewn 1" from top of each shoulder & badge patch sewn on front left chest. DUPLICATE - REJECT Small - XL 2XL 3XL 4XL 5XL 6XL	10 E	EA								
11	Baseball cap, mesh, Otto Caps #19-366 or equivalent, gold and/or silver GWINNETT COUNTY Department of Corrections embroidered.	10 E	EA	\$6.95	\$69.50						
12	Knit beanie cap, black, Otto Cap 82-404 or equivalent, "G.C.D.C." embroidered. Men's/women's clip on ties, navy blue, black, regular and X-long, Broom #900 or equivalent.		EA C	\$6.20	\$62.00						
14	Men's BDU pants, Propper F5201 or equivalent, 65% polyester, 35% cotton, dark gray, sewn to military specification MIL-T-44047E. Small - XL 2XL 3XL	60 E	EA					\$26.50 \$26.50 \$26.50	\$1,590.11		

BL020-13 (2017 Pricing)

		Approv		dvertising (S)	NAF (I			niform Tailor, Inc. OC)	Uniform Sales of America, Inc. (OC)	
ITEM		APPROX.	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
#	DESCRIPTION	QTY.	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE
	4XL						\$26.50			
	Se	ction C Total	\$13	1.50		\$0.00		\$3,947.17	\$4,2	18.40

BL020-13 (2017 Pricing)

					dvertising OS)	NAFECO (L)		Red the Uniform Tailor, Inc. (OC)		Uniform Sales of America, Inc. (OC)	
ITEM		APPF		UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
#	DESCRIPTION	QT	Y.	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE
	SECTION D - FIRE										
1	Men's trousers regular cut, Workrite #400NMX-75NB or equivalent, dark navy	100	EA							\$89.25	\$8,925.00
1	State Oversizes Oversize Prices									44-50 \$120.49	
2	Men's trousers full cut, Workrite #402NMX-75NB orequivalent, dark navy	800	EA							\$92.40	\$73,920.00
	State Oversizes Oversize Prices									\$124.74	
3	Women's trousers, Workrite #401NMX-75-NB or equivalent, dark navy	50	EA							\$89.25	\$4,462.50
	State Oversizes Oversize Prices									\$120.49	
4	Men's short sleeve shirt, Workrite #700NMX-45-NB or equivalent, dark navy, to include emblems and name strip. State Oversizes	500	EA							\$90.62 52-64	\$45,310.00
	Oversize Prices									\$122.33	
5	Women's short sleeve shirt, Workrite #701NMX-45-NB or equivalent, dark navy, to include emblems and name strip.	25	EA							\$90.62	\$2,265.50
3	State Oversizes									2XL	
	Oversize Prices									\$122.33	
	T-shirts, Jerzees 100% combed ring spun cotton or equivalent, dark navy blue, to include two-color (red/gold) insignia for the Department of Fire and Emergency Services applied over left breat. "GWINNETT FIRE SERVICES" to be silkscreened on the back of the shirt in white. NOT RENEWED S-XL	2000	EA	\$3.06	\$6,120.00						
	2XL 3XL			\$5.25 \$5.25							

BL020-13 (2017 Pricing)

			Koppel Advertising (OS)		NAFECO (L)		Red the Uniform Tailor, Inc. (OC)		Uniform Sales of America, Inc. (OC)		
ITEM #	DESCRIPTION	APPRO		UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
7	Gym shorts, Augusta Sportswear longer length jersey short, style 915 or equivalent, navy, label showing manufacturer, size and care instructions should be affixed to the interior. To be factory or factory-authorized silkscreened. Insignia silkscreen to be applied over left thigh. NOT RENEWED S-XL	500 E	EΑ	\$8.50	\$4,250.00	-			-	-	-
	2XL 3XL		-	\$10.00 \$11.20							
8	Sweatshirts, Russell Athletic #69809MO, or equivalent, navy, gray, or ash. To be factory or factory authorized silk-screened. To include two-color (red/gold) insignia for the Department of Fire and Emergency Services applied over left breast. "GWINNETT FIRE SERVICES" to be silkscreened on the back of the shirt in white. S-XL	300 E	EΑ	\$11.20						\$11.50	\$3,450.00
	2XL 3XL		H							\$12.97 \$13.86	
9	SWEAT pants, Russell Athletic #69609MO or equivalent, navy or gray. To be factory or factory-authorized siklscreened. Insignia silkscreen to be applied over left thigh. Label showing manufacturer, size and care instructions to be affixed to the interior. S-XL 2XL	200 E	EΑ							\$13.60	\$2,720.00
	3XL									N/B	•
10	Baseball cap, dark navy, Yupoong snap closure or equivalent. To include embroidered print on front of cap that is red and gold GCFS with Maltese Cross and is approximately 8,700 stitches. Embroidered print on the back of cap in white 3/8" block letters on two lines should read: NOT RENEWED WE WILL NEVER FORGET 9/11/2001	100 E	EΑ	\$9.90	\$990.00						
11	Polo/golf shirts, Gildan Dry Blend 50% cotton/50% poly or equivalent. Dark navy, to include two-color embroidery on the left chest (red and golf GCFS with Maltese Cross), approximately 8,700 stitches. NOT RENEWED S-XL 2XL	200 E	EΑ	\$8.50 \$11.15	\$1,700.00						
	3XL		-	\$11.15			(
	Trousers, Redkap PT10NV or equivalent, dark navy	150 E	EΑ	Ψ11.13				\$15.95	\$2,392.50		
12	State Oversizes Oversize Prices		-					\$19.94			

BL020-13 (2017 Pricing)

				dvertising (S)		ECO L)	Red the Uniform Tailor, Inc. (OC)		Ameri	n Sales of ica, Inc.
ITEM #	DESCRIPTION	APPROX. OTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
	Short sleeve shirt, Red Kap SP66NV or equivalent, dark	25 EA	TRICE	THEE	TRICE	TRICE	\$14.76	\$369.00	TRICE	TRICE
13	navy, emblems applied as requested. State oversizes									
	State charge for oversizes									
14	Fox Outdoor Products MIL-J0792 (USAF), jacket flyer's men's intermediate MA-1 or equivalent, dark navy. To include one emblem on shoulder and one emblem on left breast. S-XL	150 EA								
14	2XL 3XL 4XL 5XL									<u> </u>
	6XL Jobshirt, GAME-870-T or equivalent, dark navy S-XL	300 EA								
15	2XL 3XL									-
	4XL 5XL 6XL									-
16	Men's short sleeve 100% polyester shirts, Elbeco Tex-Trop or equivalent white/navy, sizes 14 1/2 - 22, to include one emblem on each shoulder.	150 EA							\$22.47	\$3,370.50
	State Oversizes Oversize Prices								\$28.09	-
17	Men's long sleeve 100% polyester shirts, Elbeco Tex-Trop or equivalent, white, sizes 14 1/2 - 22, to include one emblem on each shoulder	200 EA							\$28.77	\$5,754.00
	State Oversizes Oversize Prices								18-22 \$32.39	4
18	Oversize Titles Ladies short sleeve polyester shirts, Elbeco Tex-Trop or equivalent, white or midnight blue, sized 32-46, to include one emblem on each shoulder.	25 EA							\$22.47	\$561.75
	State Oversizes Oversize Prices								48-54 \$28.09	-
19	Men's short sleeve polyester shirts, Elbeco Tex-Trop or equivalent, with badge tab epaulets, zipper front, military back, white or midnight blue, to include on emblem on each shoulder.	75 EA							\$25.41	\$1,905.75
	State Oversizes Oversize Prices								18-22 \$31.45	1

BL020-13 (2017 Pricing)

				dvertising OS)	NAF (I		Red the Uniform Tailor, Inc. (OC)		Ameri	Sales of ca, Inc.
ITEM #	DESCRIPTION	APPROX. QTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
	Men's uniform trousers, Elbeco Tex-Trop or equivalent, navy/midnight blue, sizes 28-60	400 EA							\$26.88	\$10,752.00
20	State Oversizes Oversize Prices	-							44-64 \$33.55	
	Ladies uniform trousers, Elbeco Tex-Trop or equivalent, navy/midnight blue, sizes 4-24	25 EA							\$26.88	\$672.00
	State Oversizes Oversize Prices	-							22-30 \$33.55	
		ection D Total	\$13.0	060.00		\$0.00		\$2,761.50	\$164.	069.00
	State additional charge, if any for added shirt tails State additional delivery time, if any.				\$16.91		\$10.93		\$16.05 for Elbeco shirts. \$16.05 plus price of shirt for any other brand.	
1	State additional delivery time, if any.				60-90 days		4-6 weeks		2-3 weeks	
2	State additional charge, if any, for hemming/waist alterations length) of pants	s (extra long			Hemming- \$5.15 Waist- \$10.30		\$5.46		\$3.00 hem \$12.00 waist(double price for any pant longer than 36" custom cut)	
	State additional delivery time, if any.				45-60 days		4-6 weeks		4-6 weeks	

BL020-13 (2017 Pricing)

			Koppel Advertising (OS)		NAFECO (L)		Red the Uniform Tailor, Inc. (OC)		-	Sales of ca, Inc.
ITEM #	DESCRIPTION	APPROX. QTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
SECTION F - UNIT PRICING FOR ADDITIONAL PATCHES-			•	=	·		·			
	CREEN-EMBLEMS									
	Department furnished emblem and/or name tag to be sewn or (instructions in bid schedule). Note: the number of patches m garment.		\$1.75		\$1.02		\$1.09		\$1.07	
II.	Custom embroidery of department names, patches, and emble (instructions in bid schedule).	ems	\$2.25		\$8.46				\$4.28	
	Bid Total		\$29,015.00		\$9,389.10		\$45,072.22		\$271,299.40	
	Will vendor hold pricing firm? Year 1		5%		3-5%		3%		TBD	
	Will vendor hold pricing firm? Year 2		5%		3-5%		3%		TBD	
	Will vendor hold pricing firm? Year 3		5%		3-5%		3%		TBD	
Will vendor hold pricing firm? Year 4			5%		3-5%		3%		TBD	